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Instructions for the Candidates
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This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
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the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
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your identity, or use abusive language or employ any other
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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LIBRARY & INFORMATION SCIENCE
PAPER -1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.
1. DELNET was initially supported by :
(1) RRRLF (2) NISSAT (3) NIC (4) INSDOC
2. Who wrote the Foreword to the first edition of “The Five Laws of Library Science’ ?
(1) B.I Palmer (2) Henry E. Bliss
(8) P.S. Sivaswamy Aiyer (4) W.C. Berwick Sayers
3.  “Keesing’s Record of World Events’ is published from :
(1) London (2) France (3) Germany (4) Japan
4.  The ‘Letter by Letter" Method of alphabetization in Dictionary catalogue is known as :
(1) Nothing before something (2) Something before nothing
(3) All through (4) Something after more
5. International Standard Name Identifier (ISNI) consists of :
(1) 10 digits (2) 12 digits (3) 13 digits (4) 16 digits
6.  Identify the symbol of ‘Spiritual Experience and Mysticism” as given by CC :
(1 A 2 = 3 4 4) MZA
7. Which of the following is indicated in the third digit of DDC Third Summary ?
(1) Schedule (2) Class (3) Section (4) Division
8.  ‘Cannon of Reticence’ is a canon for :
(1) Idea Plane (2) Verbal Plane
Notational Plane (4) Both Idea and Notational Planes
s IHTHTI : Fapec
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(1) MNALFRTATH  (2) Fre=um (3) TA.STE.H. (4) sEEfh
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(1) <<q (2) W™ (3) ST (4) SMUA
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1) A 2) 3 (3) 4 (4) THSET

SLELEL B A geifuent 1 dE i fEfateg § 9 fed S s ®2
(1) ST (2) ot (3) Hm (4) T

ST 61 SugH’ T fou Sus ¥
(1) foER &R (2) dfEeh &R
(3) HT T (4) foem iR siw & gl
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9.  Positive Correlation occurs when :
(1) Two variables move in opposite direction
(2) Both variables move in a zigzag way
(3) Two variables move in the same direction
(4) Both variables are constant
10. Ex post Facto study is a type of :
(1) Diagnostic design (2) Quasi-experimental design
(38)  Descriptive design (4) Historical design
11. Who proposed Big Six Information Literacy Skills ?
(1) C.D. Ferguson (2) G. Dunsire
(3) E.A. Fox (4) M.B. Eisenberg and R.E. Berkowitz
12.  Which of the following statements are wrong with reference to INB ?
(a) Excludes musical scores
(b) First appeared in 1951
(c) Classified part follows CC, but DDC numbers assigned at the bottom
(d) The main entries are in Roman Script
Code :
(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (c) and (d) are correct
(4) (a) and (d) are correct
13. The protection of non-personal data in Transborder Data Flow uses which of the following
legal instruments ?
(a) Copyright (b) Patent (c) Bandwidth (d) Trademark
Code :
(1) (a), (b) and (c) are correct
(2) (b), (c) and (d) are correct
(3) (a), (c) and (d) are correct
(4) (a), (b) and (d) are correct
waso [ [AHAAER ‘ Fapec
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From which universities S.R. Ranganathan was awarded D. Litt (Honoris Causa) ?

(b)  University of Madras
(d) University of Pittsburgh

Information about recent floods in Bihar can be found in :

(b) Data India

(d) Statistical Abstract, India

Which of the following questions fall under the category of ready reference service ?

14.

(a)  University of Delhi

(c)  University of London

Code :

(1) (a) and (b) are correct

(2) (a) and (c) are correct

(3) (b) and (c) are correct

(4) (a) and (d) are correct
15.

(a) Asian Recorder

() India; a reference annual

Code :

(1) (a) and (b) are correct

(2) (a) and (c) are correct

(3) (a), (b) and (c) are correct

(4) (b), (c) and (d) are correct
16.

(a) Population of Varanasi

(b) Height of Qutub Minar

(c) Concept of Symbiosis

(d) Collection development in university libraries

Code

(1) (a), (b) and (d) are correct

(2) (@), (b) and (c) are correct

(3) (b), (c) and (d) are correct

(4) ), (c) and (d) are correct
N7 \II\I [T
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14. TH.AR. A o oo favafaemas @ €.fae (A sufa) yem =t 7 of ?

15.

16.

s |

(a) Tooedt fomafaemer™ (b) werE fovafammc
(c) e forvafaene (d) Toegeri fogafomme™
<

(1) (a) 3R (b) T &

2) (a) 3R (c) TE ¥

3) (b) 3R (c) T

4) (a) 3R (d) W& &

foeR o 2et 1 a1Gl o IR | go foRad g & gkt | -
(a) e fremreR (b) eer e
(c) 9Rd; He anftiht d) wRffesra L, e

a) 3R (b) TE ¥
a) 3R () ESr
a), (b) 3R (c) T ¥
b), (c) 3R (d) =&t §

frfafed gl § 9 % | @Rd ey Ja 1 Soft o SF=<id 31 € ?
(a) SIRIUTET hl SEET

(b)  FIA FAR H S
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17. Identify the basic parts of Colon Classification :

(a) Rules

(b)  Schedule of classification

(c)  Schedule of classics and sacred books
(d) Geographical schedule

Code

(1) (a), (b) and (d) are correct

(2) (@), (b) and (c) are correct

(3) (b), (c) and (d) are correct

(4) (@), (c) and (d) are correct

18. Identify the budget heads of non-recurring budget :

(a) Periodical subscription (b) Maintenance of equipment
(c)  Building extension (d) Infrastructure development
Code :

1 a) and (b) are correct

2 b) and (c) are correct

3 c) and (d) are correct

1
2
) (
@)

4 a), (c) and (d) are correct

19. Which of the following are non-parametric tests ?

(a) Anova test (b) Spearman correlation coefficient
() Ztest (d) Chi-Square test
Code :

1) (b) and (d) are correct

3

@D

(2) (b) and (c) are correct
(3) (a), (b) and (d) are correct
4

4 b) and (c) are correct
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17. fgferg rffertor & garya Wt o1 faf=d Y -

18.

19.

s |

(@) IRRE

(b)  oRTTeRTOT SR ST
() g iR wnfHer &aehi ot ST
(

d) oriifere ST
<

(1) (a), (b) 3 (d) T E
2 (@), (b) 3 () WEE
(3)  (b), (o) ¥R (d) WE ¥
4) (@), () ¥R (d) & &

(a) T-9fAeRT UTEeh! Yooh (b) TR H W-E@E

(c) v foe (d) AIEEAT forenm

frefafed § 9 oF 9 A9=cs a0 § ?

(a) I gdEm (b) ERRHT Hehey fageio
(c) SIS gl (d) R TEER ThE
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20.

21.

22.

Which of the following are work analysis techniques according to Edward Evans ?

(a) PERT-CPM (b) GANTT - Charts
(c) Operation research (d) Cost - effectiveness
Code

(1) (d) and (b) are correct

(2) (b) and (c) are correct

(3) (a) and (c) are correct

(4) (c) and (d) are correct

Transborder Data Flow includes (in the definition given by United Nations) movements across
national boundaries :

(a) Machine-readable data for processing, storage or retrieval
(b) Media products (mass diffusion)

(c) Machine - readable data or magnetic tapes

(

d) Machine - readable data on discs

Code

(1) (a), (b) and (c) are correct
(2) (b), (c) and (d) are correct
(3) (a), (c) and (d) are correct
(4) (a), (b) and (d) are correct

Which of the following are the Canons for characteristics as enunciated by
S.R. Ranganathan ?

(a) Canon of relevance (b) Canon of Permanance

(c) Canon of differentiation (d) Canon of Interpetation in Chain

(1) (b), (c), (d) are correct
(2) (@), (b), (c) are correct
(3) (@), (c), (d) are correct
(4) (a), (b), (d) are correct

asor [ IFNINEAN 1



20. TS 39 gN & TE i fagevur dersileh shid-sh &1 & ?

21.

22.

s |

(a) TSI - dtTH (b) ST -

(c) TETe TIEY™ (d) ANTI-FHTeRIT
<

1) (d) 3R (b) T&

2) (b) R () T

3) (a) 3R (c) W ¥

4) (c) 3R (d) T &

IR SiTehel WaTe (Fga 2 §RT & Tt gt o ) H Wi Hansii o STR-UR SAiehel ohi STaTsie]
gftaferd Bt ©

(a) TETHT, AR 1 GAYIRG & foIw oei-yeTarm siiher
(b) Hifea I (SATH THR)

() TRIF-USTarg sAfhel a1 Frafes ou
(d) ferm ¥ weia-vewmg st
<<

(1) (@), (b) 3 () W& &

2 (b) (o) 3R (d) WA &

(3) (@) (o) R (d) T &

(4) (a), (b) 3 (d) W&

TH.3IR. T gN wfauifed fafafed § § =8 9 stfuyaso & fag 30 931 §2
(a) UTETeRT ST ST (b) Tl h1 ST

(c) Tauea =1 3uga (d) sf@en | fd=A w1 3ugs
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23. Arrange the following libraries in the chronological sequence of their emergence :
(a) Rampur Raza Library, UP
(b) Asiatic Society Library, Bombay
() Connemara Public Library, Chennai
(d) Sarasvati Mahal Library, Tanjore
Code :
1) @ ®) © @
@ ©) © @ @
() © (@, @), 0)
4) (@, © b, @
24. Arrange the following printing technologies according to their emergence :
(a) Movable type (b) Dot-Matrix printer
()  Woodblock printing (d) Screen printing
Code :
(1) (d), ©) (b) and (a)
(2) () (@) (d) and (b)
() (@ (d), (b) and (@)
(4)  (d), @) (b and ()
25. Arrange the following steps of digital preservation in their sequential order :
(a) Refreshing (b) Encapsulation
(c) Emulation (d) Data archiving
Code :
1) © 0), @, @
2 (@), 0), @ ©
() @ @ ®)©
4) @ © O @
aso [ FTHUITAN 2
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23. Trefafed gkl sl STt Igwa a4 o I ATTHR Safeerd &

24.

25.

|

(a)
(b)

TR TS Mg, ST I
ufrnfes TEEE e, di

PR Ufscteh AATSa, =18

Tl Hed g, aeiiX

frefafad geo drnffeat = ST Squa & 9 o Hafeerd #X

AT T (b) efe Afge R
CECSIERIER (d) ShA fHfen

e @t fefafaa faft=l o1 3% w8 & STTaR Fafkd &

(a)
(c)

<<

1)
(2)
(3)
(4)
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26. Arrange in sequence the following steps followed in Programming :

(a) Programme Code (b) Programme Documentation
(c) Program Test (d) Programme Design

Code :

1) @, (), () (d)

2) (), @) (9 (b)

®3) (k) (©) () @

@) () (9, (b) ()

27. Arrange the following Open Access Initiatives/Policy Statements according to the year of
their adoption/declaration at international level.

(a) The Coalition of Open Access Policy Institutions (COAPI)

(b)  The Berlin Declaration on Open Access to Knowledge in the Sciences and Humanities
(BDOAKS and H)

(c) The Budapest Open Access Initiatives (BOAI)
(d) Scholarly Publishing and Academic Resources Coalition (SPARC)

Code

1 (@), (b), (c), (d)
2)  (d), (o) (b), (a)
@) (®) (a), (d), (o)
4) (9, (d), (b), (a)

28. Match the following indexing/abstracting publications with the corresponding institution.

List - I List - II
(a) Indian Citation Index (i) ICMR
(b) INSPEL (Retrospective, 1970) (i) ICAR
(c) Med Ind (iii) Diva Enterprises, Delhi
(d) Indian Animal Science Abstracts (iv) NASSDOC
Code :

@ (® (9 (9
O @ @ @ 0
@ @) v 0 G
@) O @ @) @)
@ @ O @ G

asor [ IFNINEAN 1



26. GUTHA T SO STHaTel fEfafad wedl i 98l A | oFefed Y
(a) UM hle (b) U YeT@d
(c) I & (d) dm sifHehed
< :
(1) (), (b), (0), (d)
(2)  (d), (@), (c), (b)
3)  (b), (), (d), ()
4)  (d), (9) (b), (a)
27. frafafed go wgw veal/Hifa Sede ST SRiEd R W SF ST 91 /! =mon & 99 &
% T afeed H
(a) Te FIfeA A% 09 Taw difcrdl! SRR (6 o T 1)
(b) T sfcH fesamem & o TR™ 2 oS 39 T |9y U ggafds (o €t 3ll T wH ie
)
() T& Jenw o vaew sHfgufeay (st 3 T ams)
(d) el fsafei U Tenefhe REEs wifeem (70 9 T 3R =)
e
1) (@), (b), (), (d)
(2)  (d), (0), (b), (a)
3)  (b), (a), (d), (c)
4) (9, (d), (b), (a)
28. Trefafad sTIshaviiRor/ AR JehReHT i Helfed WMl % |l gafad i :
et - 1 et - 11
(a) Sfead TEeYH s (i) . HLTA.SR
(b) TEUA (aet, 1970) (i) STE.HTLIR
c) W 3Ie (iti) fgon g=TuESH, foedd
(d) sfeas Tima aET sTeaed (iv) “Eei®
e
@@ (b) (9 (d)
1) @) @) @) @)
(2) @) @Gv) @) (i)
(3) (i) (i) (111) (V)
4) @) (@ (iii)
s [[]] \||H||| 1 Papert
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Match the following terms with the corresponding authors who coined them :

Match the fundamental categories with corresponding examples :

29.
List - I
(a) Knowledge Economy
(b) Documentation
() Informatics
(d) Information Retrieval
Code :
@ (b) (9 (d)
O @ @ @ o
@ O G @ )
@) (v G O @
@ @ 0 @ G
30. Match the following :
List - I
(a) Bibliography @)
(b) Biography (ii)
(c) Statistical Source (iii)
(d) Newspaper Digest  (iv)
Code :
@ (b) (9 (d)
O @) @ O
@ @ @ @)
@) @ G @) 0
@ @) ) @ 0
31.
List - I
(a) Asia @)
(b) Book Selection (id)
() Microfilms (iii)
(d) University Libraries (iv)
Code :
@@ (b) (9 (d)
O @) @ O @
@ @) @ @ o
@) @) G @ @)
@ O v @ G
s AT

https://lwww.freshersnow.com/previous-year-question-papers/

List - II
if)  Calvin Mooers

iii) Paul Otlet

iv) Peter Drucker

List - I1

i)  Mikhailov, Chernyi and Gilyarevskii

Number of people recently died of dengue in Delhi

Number of volumes of a book

Number of siblings of Mahatma Gandhi

Number of primary schools in Mumbai

List - II
Matter
Personality
Energy
Space
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29. Tr=fafed 9ei =01 Heifod cresl-wy gafed =i

T - 1 Tt - 11
(a) ISt gehIATH () Toramed, =i oir fifeeesn
(b) STHRIH=INE (i) Shfced e
(c) THRATCH (i) i 3Afecie
(d) THRHYA RErRad (iv) el g
<< :

@@ () (o (d
1) @) @) @) @
2 @ (Gv) @) (i)
3) (v) (@) (@) ()
(4) (@) (@) @) (i)

30. TrAfafea s gafaa s .
Tt - 1 et - 11
( (1) foedt | < 9 & H 7 ol B e
( (i) T TKh & QUS| &l &
() dHifersa @ (iii)  TETCHT e o WG I HeE
( (iv) Has | yrafies foaemerl st dem

<
@@ (b) (9 (d)
1) @v) @) @) (i)
2) @) @ @) (i)
®) (@) @) @) @
4) (@) @) @ @
31. HIYd ATVl 1 HId SSRLN ok WY GATAd i :
gt - 1 T - 11
(a) e (i) e
(b) Tk =3I (ii) AR
(c) TTEShIeH (iii) it
(d) fovafoeme™ q&heE  (iv) ©&F
e
@ (b) (9 (d)
1) @v) () @ ()
(2) @) @) @v) (@)
®) @) @) @ @)
4 @@ (v) (@) (i)
eosso [ IIFENIACIAINE L
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32. Match the following ACI symbols (CC 6t edition ) with their corresponding Isolates :
List - I List - II
@ p (i) Conference
b) k (i) Encyclopedia
() w (iii) Biography
(d n (iv) Serials
Code :
@ () ©
1) @ @) @ o
@ O G @ @)
@) @ O @ W)
@) (v G @ @
33. Match the following NISO (National Information Standard Organisation) standards with
their corresponding descriptions applicable to Libraries :
List - I List - II
(a) Z39.2 (i)  Guidelines for Abstracts
(b) Z39.4 (@) ISSN
(c) Z39.9 (iii) Guidelines for Indexes and Related Information Retrieval devices
(d) Z39.14 (iv) Information for interchange format
Code :
@ () (9 (d)
1) G @) @ 6
@ O @ @) @)
@) @ @) @ @
@) @) O @ @)
34. Match the following devices with their mediums/system :
List - I List - II
(a) Pen drive (i) Web server device
(b) I-pad (i) Communication device
() Wi-fi modem (iii) Tablet run on iOS mobile operating system
(d) Cloud computing (iv) Storage device
Code :
@ () (9 (d)
1) @ ) @ )
@ (v G @ @
@) O Gv) @ (i)
@) @) @ 6 W)
raso [N 1 Fapec
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32. TrAfafed Tot.e1E. ydishl (H. 6 FWRoT) Tl 3T §Td Thall o W1y FHfed HifT :
et - 1 et - 11
(@ p (i) —wHT
(b) k (i) favasre
© w (iii)  Sfrert
(d n (iv) ShiHeh ehreH
e
(@ (b)) (o) (d)
1) @) (v) (i) ()
(2 @ @) @) (@)
@) @) @ @) ()
(4) (v) (i) () ()
33. Trefafed e .3l (U For1 9 GTed) JHhl ol Jhierdl o Hae § gad foero
1y T ifse
et - 1 et - 11
(a) Z39.2 () ww % foag feenfrce
(b) Z39.4 (i) TS TE.TH.TH.
(c) Z39.9 (iti)  STIHHTOTHRIST 3R Heifem I G i Hansdl < forg fewmfrda
(d) Z39.14 (iv) Sfafdfa g&9 gg Y
e
(@ (b)) (o) (d)
(1) @v) (i) (@) ()
(2 @ @) @) (@)
(3) ) (v) (i) ()
(4) @) @) @) ()
34. Tr=fafed feara 1 7 wremi o @y gafea wifsg
et - 1 et - 11
(a) T g () oo weR feary
(b) emE-TS (i) FErRee feamd
(c) TE-E Hred (iii) oTE.3M.TH. W SRS Ygfd aeie & deq e Hdl 2|
(d) FIR—E FFfET (iv) RS feard
<
@@ (b)) (o) (d)
1) @@ (@v) (@) (i)
(2)  (@v) (i) () ()
(3) (i) (iv) (i) (iii)
i) (@) (@)
o917 ||H||\ T L
https://lwww.freshersnow.com/previous-year-question-papers/



35. Match the following Web tools with their corresponding features :
List - I List - II
(a) Web 1.0 (i) People Centric and participative/bi-directional
(b) Web 2.0 (i) Linking and Integrating Global files
(c) Web 3.0 (iii) Man-Machine Interaction with critical mass of participation and
use of Al
(d) Web 4.0 (iv) Static and mono-directional
Code :
@ ) © @
O @) O @ @)
@ O G @ W)
@) G @) @ 0
@) @ 6 ) (@
36. Match the following research methods with their corresponding explanation :
List - I List - II
(a) Formalized research (i) Interpretation of abstract ideas
(b) Conceptual research (i) Survey and fact finding enquiries
(c) Descriptive research (iii) Formulation of theory
(d) Fundamental research (iv) Substantial structure and hypothesis to be tested
Code :
@ () (9 (d)
O 6 @ G @)
@ @ G @)
@) G @) O @
@) @) O @ @)
37. Assertion (A) : Extending the library’s reach through strategic partnership, collaborative
relationship is an important goal for any academic library.
Reason (R) : Partnerships do not allow participating organisations to yield efficiency.
Code :
(1) (A) is true, but (R) is false.
(2) (A) is false, but (R) is true.
(3) Both (A) and (R ) are true.
(4) Both (A) and (R) are false.
s [N 2 Fapec
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35.

36.

37.

frefafed o« Tl o6t 3Tt Sa foRuanedi o wry gafad St -

T - 1 Tt - 11
@) 9 1.0 (i) S Ff=d IR riery/ f5-foemeen
(b) &S 2.0 (i) Sf¥eeh FEE P FASH SR THIEH
() 3.0 (i) TEEYUl 59 TYE H AFNGRT IR HM JfeHar & WY aHe-weia
ST=fshan
d) 39 4.0 (iv) Ter iR = feemees
<< :
@@ () (9 (d
1 Gv) @) @) ()
2 @ @) () (iv)
®) (@(v) @@ @ @
(4) (@) @@ @v) (i)

ffafad iy ggfadl Sl 3! ST SR o @ Yafed S
et - 1 et - 11

(a) STUEERd MY () o foam w1 feiem
(b) HehedATHS WY (i) Teerr TR qeATATY et gesnd
(c) dUFIH® WY (i) oG =1 Hiare
(d) HAYd 3N (iv) e ST SR Tdieqor shi ST aTell JTaehed
<
@@ () (o (d
® @ @ @) (i)
(2) (@) @) @) @
3) (@) @Gv) (@) ()
4 (@) (@) @) (i)

AR (A) :  FEHIAF IR, TedrTeas IAERT & Weaq § JHshierd i 9gd | fomR
AT TRt Sifaten JEaeRIcrd 1 He@qul @ed Bl 7 |

adh (R): TRTQRT T & ATl SSH1 ohl J&TdT Y& i i STAM 81 <t ¢ |

1) (A) W& T, W (R) e B
(2) (A) 7o B, W (R) W T
(3) (A)Sﬁ'{ ) T TR R

R) M1 T § |
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38. Assertion (A) : Science rests itself upon a series of postulates or assumptions which are
themselves fundamentally unproved and unprovable.

Reason (R) : One can only assert that these postulates are true, can believe them, but
cannot prove them as they deal with the validity of human knowledge.

Code :

(1) (A) is true, but (R) is false.
(2) (A) is false, but (R) is true.
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are false.

39. Assertion (A) : Implementation of TQM in Libraries is quite challenging.

Reason (R) : Some of the key essentials, like open and cooperative culture and employees
responsiveness for customer’s satisfaction, required for successful
implementation of TQM, are very much noticed in a library.

Code :
(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are false.

40. Assertion (A) : Web 2.0 has wholly wiped out the digital divide, particularly with regard
to individual ability, access to and engagement with technology.

Reason (R) : Use of Web 2.0 in learning and teaching is still in an embryonic state.
Code :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true.

(4) Both (A) and (R) are false.

41. Assertion (A) : It is not economical to store and read video data from secondary storage
devices.

Reason (R) : Video data require enormous disk storage as image compression ratio is
high.

Code :

(1) (A) is true, but (R) is false

(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true

(4) Both (A) and (R) are false
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38.

39.

40.

41.

afirerer (A) :  fomm e 57 sl o eifrumoned W emenfia ®, S 1o o9 A Ue €9 9
ST ST STy

ek (R): FE off Feeeges %e Hohdl & T 3 STa W@ €, 37 W favam™ = ¥l T,
R JHITOIG <&l oY Hehal FiTeh 4 HHE JM i ALl § Haferd 2 |

%< :
1)
2

(
3
4

A) TE , wf (R) TTord 1
Teld ©, AR (R) Het & |
3R (R) 1 @&t B |
3R (R) 31 7o B

vvvv

) (A
) (A
) (A

IR (A) :  TEIRICEl H A FY TH. FH BRI HIH FAY T |

q&h (R): AR T & IFA A & AU TUfa geT sawEs dw@, S g ik
HEANTCHS HEhid T UTEeHh A o TTT HH=TEl st gfafsharcendl, Jeaeherdl
H ogelt 9 S € |

<<

1) (A) ¥& %, fhg (R) To@ B

2) (A) T T, fohg (R) W&

3) (A) ¥R (R) S T €1

4) (A) 3R (R) T TTerd €1

AR (A) : A9 2.0 7 FoRI9 &9 § =AfFaa A, Wit 9 g9 T STt Sierwqar ol
@A g T fa9e 1 quid: TuTa K e 7
ek (R): S foren # 1y we freron § 9« 2.0 %1 ST o1& qe GRS TR H g

(A) T& T, fg (R) Tord B |
) (A)W% g (R) &t ¥
) (A) 3R (R) S w& )
) (A)

afeRe (A) : Tt ferw =5 4 fafedi Trr &1 goa w3 e 38 ve faaerht =& T

q& (R): fafedi e & fou stafys fewh Werw #i smavawar g € Fifs wfafors
TETE ST 3 Bl © |

w2 :

1) (A) ¥& T, g (R) T B |

2) (A) T T, g (R) &t B |

3) (A) 3R (R) IHI &

4) (A) 3ﬁ'{(R ST T € |
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42. Assertion (A) : Participatory action research follows the conventional model of pure research

in which members of the communities under study are treated as passive
subjects.

Reason (R) : In participatory action research no member of the communities under study

participate throughout the research process.

(A) is true, but (R) is false.
(A) is false, but (R) is true.
Both (A) and (R) are true.

Both (A) and (R) are false.

43. Assertion (A) : The mean is a measure of dispersion.

Reason (R) : The mean is based on every obervation and is representative of the whole
population.

Code :

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are false.

44. Assertion (A) : Access to e-collection of a library via Login and password recognition is

mostly used than access via IP-address.

Reason (R) : Access via [P-address presents a challenge in controlling the distribution of

password to non-affiliates.

Code :

(1)
2
®)
(

)

s

(A) is true, and (R) is false
Both (A) and (R) are true
(A) is false and (R) is true

Both (A) and (R) are false
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43.

44.

. ATURAT (A) :  AERN HE STIHEM H fOx[E ST{HUM % TN Uiaeq 1 STIeh0l fohal STl ©

o TR & ST Ra el ol fftena foawa & & & 9wen S 7

a&h (R): TR e STIHYM H T & AR e Hewd Tl STIHM Uishan § 9
T AT

1) (A) & %, T (R) 7o R
A) T T, TR (R) W= 21
A) 3R (R) ST @&t B |
(A) 3R (R) I TTe@ & |

(1)
@)
3
(4)

4

AR (A) :  HIET YehIU 1 A1 |
q&h (R): 1L Yeeh Y&Iu1 T STERA Bl B 3R I8 §rul See o fege g 7|

<< :

afirerer (A) :  fFE! TEIhIerd % $-TUE T Ugd oM & foIU 3TE. 0. -TSH & HIea™ ¥ Ugd i
TSI SAIRII: AT 37 3R I Tga & HIezq W Ugd 1 STANT foman S 1|

(R) : 3 N-TSH % WY ¥ g TR-TEeg Al Hl qEes & fame W
v T e

1) (A) ¥&I %, 3R (R) T © |
2) (A) ¥R (R) S T 1
(3) (A)W% 3R (R) @&l T
(4) R) S T © |
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45. Assertion (A) : Interlibrary loan departments in libraries will be affected in positive ways

by the development of Massive Digital Libraries.

Reason (R) : Because the increased availability of online resources will considerably

reduce the need for sending books through traditional mail resulting in the
decrease of the workloads of the inter-library loan departments.

(A) is true, but (R) is false.
Both (A) and (R) are true.
(A) is false, but (R) is true.

Both (A) and (R) are false.

Read the passage given below and answer the questions based on your understanding of the
passage. (Question Nos. 46 - 50).

The medical community is not homogeneous. We have a wide range of kinds of work

and, hence, we have a wide range of kinds of needs for information. Therefore, solutions for
better access by investigators to information that they need might not help practicing physicians

at all.

Science in medicine and the practice of medicine differ greatly. How they differ was

described succinctly by Peter Mere Latham well over a century ago : “Medicine is a strange
mixture of speculation and action. We have to cultivate a science and to exercise an art. The
calls of science are upon our leisure and our choice; the calls of practice are of daily emergence
and necessity”. Latham’s point is well made, but it is not quite detailed enough for our
considerations here. Let me sketch out how the information needs of investigators and
physicians differ.

1)

2)

®)

(1)

An investigator usually poses one question (or faces one problem) at a time and works
on it for a long period. A physician constantly faces a quick succession of problems
that call for rapid solutions.

The investigator’s problem is usually narrow and readily defined. The problems dealt
with by the physician tend to be highly various and fogged by many uncertainties.

An investigator’s earnings are not tightly coupled to how he spends time from minute
to minute and hour to hour. A physician’s earnings are tightly coupled to every day’s
working hours and how they are spent.

These differences lead to differences in kinds of information needs and searches.

The investigator tends to need an exhaustive search of information sources (“the
literature”) but at infrequent intervals. The time available for the search is relatively
large and can be carried out at relatively low cost in “purchase” and in “time-cost”.
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45. IMURYT (A) : THHRHE H AR-Tihlerd R0 a9 =Ae fefSied geaeperal o fowm 9

HHNIcHS & § gIfed & |

& (R): SIS HHIEH] i AfHd ITTSAT o RN GIRATT ST o HIEAH § J&Ieh! ol
IS T ATIITHAT HIHI FHH B U IR IHF IROM WEY AR -JEAHT
o1 foum o SR o S ST |

e

1) (A) ¥& T, g (R) T B |

2) (A) 3R (R) < =&t ¥ |

3) (A) T €, fRg (R) W T

4) (A) 3R (R) S TTerd €1

frefeafaa steavur st ufeu 3R SHeh e & MR W Y91 o ST ST | (W9 |E&AT 46 - 50.)

fafhcaes TeR TSI F6f €1 AR U1 319 YR % M ¢ 3R T8fee gaR e =t &t

SATETIRATY ot 3Tk YR 1 § | AT, STkt bl FST9 AT 1 a8 Tehell & 9 Gl dh
IER TG I o foIu Suetsy Tl ¥ HaEerd fafecashi @l oot off gemar 7 faem =t
e &t B

faferan # fagm ok faferan saum & s9gd sid €1 39 i & 3id 1 ded T ey gr

T Ueh 931 Jd oIt &9 ¥ Ffviq foran e o faferaa fogm s1qam iR foren o1 fafest fasgon
T T U fagm 1 faskfad e Sian € iR T el 1 7919 1 erar | o i 6 g o7t

RO o FHT 3T ST THER I I € S@fh 314 i A S T | 9 S € SR U

TR STTEvereRal oF ST €17 e = 37T 91 oIgd ST=s! aRe | el § TReg J8l R g9R gN fa=r
fhu S % faw 9% v« w9 @ fasga 72 &1 & smushi 9% 5w § fob srawehi iR faferaasi @t

o Heeh Sed fohd R | it €

(1)

(2)

(3)

1)

3T YT : Teh T Ueh U9 hdl © (Teh THEAT T G Yl §) 3T ol 90 dh 39 W
T A ¢ | Tl 1 AR T o 915 Toh FHET 1 AT T TSl § fSreehl @ika
w9 Y G TR ST it AT Bl § |

3Tk ! HHE U : HifHa iR Teal § & affia 2t 81 fafercaes &1 fo9 st 9
frae 2 ® 9 fafay &9 fore gt § iR o siffyedarsii & $e@ # ! et 1

3T ! FHHTE T 3H o1d F hIE USRI Haiel 7T& 2l foh 98 ST Teh-Teh fieie ik -1
Hel fFg R | =rdid e | Fafehcas ot 7 39 919 ¥ 99 dR W e el § f a8
gfafed foraa =i 10 Har § IR 37U I8 fohd TR =t o € |

T 3TART o R o1 Helell Seal 31X WISl o YehRI § ST ST STl § |

3Tomeh ! Yo @l (VHifeca’’) AR TS FL i T TSl & Tg SR L
fafid STl W ISt §1 Wi % folu Sueisy 999 JorTeas 9 W o 2l § iR g
“Elie’ 3R Img-arTa ! i gfte 9 3TUehd H AT W i ST TR B
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46.

47.

s |

How

The physician needs quick access to valid information of immediate and high utility.
The time available for a search is small. The “time-cost” for a search is high. The
physician has to work mainly with thoroughly digested concepts and with most of the
needed data carried in his head; the brain has a very rapid access time. Additional
facts needed for clinical decisions must be accessed very rapidly.

Both investigator and physician occasionally have needs like those of the other.
The investigator may need quick access to a small and specific piece of technical
information; the physician may be willing occasionally to embark on a broad search to
deal with a rare problem. Further, both have ongoing needs for general awareness of
new developments that may come eventually to have high utility.

These differences seem to me to determine how investigators and physicians use
or do not use various kinds of information materials and sources.

Investigators tend to use reports of specific and individual research efforts-journal
articles. They tend to carry out searches themselves or to assign them to close professional
associates. They have time to assess and to digest individual papers. Synoptic
information, such as that in review articles, is used mainly for orientation to a new
problem.

do Peter Mere Latham differentiate calls of ‘Science” (in Medicine) from that of the

‘practice’ (of medicine) ?

How

(1)

4)

The calls of science are upon one’s leisure and choice, where as the calls of practice are
of daily emergence.

‘Medicine’ is a non exotic mixture of certainty, while practice of medicine is an infrequent
phenomenon.

Science is not a study of the natural world, where as practice is based on facts learned
through a formal study.

Science is not a method of reconciling practical ends with scientific laws, where as
“practice’ do not allow repeated exercise to make one proficient.

Lathams differentiates the information needs of Investigators from that of Physicians.

An Investigator unconventionally faces with multiple problems at a single point of
time and works on it for a long period, while a physician constantly faces slow-witted
succession of problems that hardly warrant rapid solution.

An investigator ordinarily faces one question/problem at a time which is usually narrow
and rapidly defined, while a physician constantly faces a quick succession of varied
problems fogged by many uncertainties.

Earnings of an Investigator are strictly coupled to how he spends time from minute to
minute, whereas a Physician’s earnings are not tightly coupled to every day working
hours.

Information needs of Investigators are solely academic, where as the needs of Physicians
are both academic and utilitarian.

28 Paper-II



46.

47.

s (1T

(2)

fafercder &l T 3R 3= ITIRTAT arell A1 Yol @R &9 9 T i i ST%kd 2l ¢
et @ o o Sueiey wva %Y 21 81 @S &l wra-ana ' 3 gt g1 i 6
qerd: welt Aifd gmel T8 Hehoumreii 3iR 3T ufeqsh o 93 g AfeHisr sowas fwel &
1Y T AT B <; Tedm sIga < Tifd | el 7o Ug™ Wi § | et it W fore srevaes
srfafiaa ael qe Ig Sgd a1 T | ST =1

31k 3R fafercas A1 1 Fi-FIR =1 AT S STEd Sl § | 3Tk ol Bl
Gt IR fafime yehR it Gl Yo @G €9 | I A 1 S & Gehdl ©; Faferesh
Foft et gety guen 9 fes & foru fasga @er w7 i 3991 o Tohal § 1 39 a1fafien,
ST T 37 T IR T AT ST Gaelt Tad Sedd oidl & foeht 3T=id: sigd Siferh
SYAIFTAT BT Hehell B |

TS T Ydtd 2l ® fob 3 o1 & 39 o1 o1 feien € fob R yeR 9 st ol
fafercaer fafir geR &t e Tl R Eidl 1 ST o 91 78 i 8 | e fafire
3R Fafaraer vy yamdl st fdief-ufemsii & ol - 1 ST wd #i ygfa W §1 o =
I A AT 3T T SAaEife TeAfiE Sl e 1w G+ ygia wd 1 ST I
AR N T3 T ST B TR ITh! ST H 1 THF Bl & | WIS AT, S
o riten orel | St ], 1 ST gea: fRdt 8 g9 % yetem & fore foman S #

T ey fogm"" (Fafean ®) st am e sram” (Fafsrea 1) =1 o 3 79 TR 4 gus
F §?

1)

for ot doTel SAfo ot FREd & T TR ITH! THIHER T Bt § Safh 1A i qarel
e =9 | g Tt B

‘Tafercn’ ffeaar 1 ifosdia fago € Sefe fafea =1 erag e stifas afiee §)
form Wiehferen foa 1 steam T2 § Sefeh o7 Sfiiu=nfish 318999 o SR Ui 7T qeai T
3R BT & |

form =rereTiier SRl o1 Sefie fadl & Tre gEnfa SeM &1l el § Sefew ‘ ereard’
et ol 587 T & Tl IR-9IR 27418 3 ki STTAM &l < B

e STvhi IR Tafercaent i g=m Helet Sedl o T TR 9 fadie &id § 2

(1)

(2)

(3)

(4)

3T I STHTHR &Y Y Teh & THT 9gd IR FHERT 1 FHA1 a1 ISl § 31 98 37 |
T T G T HIAT § S(@ieh Tafchcdeh Fqd &9 § Tl THENST 1 o1 hidl § fSeh
Seal W HIY e i SA1eT Sesd 78l il & |

39 WHC: Teh THI Ueh Y9,/ THE1 1 TEAT Hdl § S 9 Hiftd iR afid &9 9
R Bt § Saifer fafercas o1 Tad 9 A fafie YR ot Taeetl &1 9 e 9Sdl §
St fafum stfafeedarsti & steRor § gt &l |

319 1 HATS 1 TH 910 § Tdh! T Bl € foh a8 3191 fiee-fime &1 o fovd yahR
Idld Al § STel(eh (afohcdeh ohi ShHTS oh1 38 o1 § Tdeh! Tt BIdT € foh o8 Ufafed feraa =i
I HLAT & |

STAYRT I AT Hetht ST 3Tohel TG &Y i Bl § Safch fafoheaehl i STEd
T R STANTHS S FhR i eil § |
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48. Who tends to need quick access to valid Information of immediate and high quality ?
(1) An Investigator (2) A Screwball (3) A Physician (4) A Teacher

49. Why “time cost’ for a search made by a Physician is higher ?

(1) Slow access to invalid Information.

(2) Access to information that are distant in need and of less utility.
(3)  Exhaustive search of information sources.
(4) Rapid access to high quality information needed for clinical decision.

50. Why the Investigators tend to carryout searches themselves ?

(1) They have time to assess and digest individual papers.

(2) They are unaware of appropriate information sources.
(3) They have no access to information/literature they need.
(4) They cannot afford time to search, identify, and digest the articles of high quality.

-00o0-
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48. THusl qohra 3R 3= TUTEE AEl AR o1 Sl @R €9 § T 63 i STaeashdl e @ 2
(1) 3= (2) g Al (3) fafsreaen (4) SrATH

49. fafercas® 5 &1 T B 1 ' THF AN’ I S © 2
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(2) UH g a% UgH Bt © TRt evaveshdr wfasr § 2t € @R SuEfiTar %9 St ¥

(3) = Gl i A @I |

(4)
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2

4

50. 3T ISt W Fl AT =ed © 2
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(4)
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